Tutorial 6

1. Discuss the latency of data transmission between IEEE 802.3 and IEEE 802.11 in conditions of (a) low traffic (b) high traffic.
2. For each of the following, determine X to be a hub, switch or router and justify your answer. There may be more than one answer that matches the criteria.
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a. H1 sends a packet to H8 and then H8 sends a reply to H1. These packets are seen by H5 and H12.
b. H1 sends a packet to MAC address ff:ff:ff:ff:ff:ff and it is seen by H11. 
c. H2 sends a packet to H8 and it is not seen by H12 or H5. 
d. H2 sends a packet to H9 but the Destination MAC address of the frame H2 generates is not belonging to H9. 
e. H2 sends a packet to H8 and the Destination MAC address of the frame H2 generates is belonging to H8.
. 
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